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(a) 1

(b)

14+1=77

—
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/ sin(2z) do = 77

(a) 2cos(2z) + C

(b) coséQ:c) L

(C) —2cos(2z) + C

(d) _cos(Qa:) L C

2 0% 0% 0% 0%

R v > ™
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. [5°] = (5")(In5)
. 2 T
<+ 57"dx = 77

3 z+1
(a) T | 5
3 x+1

(b) 2z 4+ (5*)(In5) + C

3 57

() =+ -C

3 In5

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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nth rt endpt Riem. sum

(a) i [é] A/ A
for / et dx

1

(b)jzizl E] o1+ (31/m)~(3/m)]

~ [3 (35/n)—(3/(2n))
(C) j;l [n] 135/ =(3/(2n))]

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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n | nth left endpt Riem. sum
(a) 3 P] LGi/m)] Pr
for/ e’ dx

1

(b)jzizl E] o1+ (31/m)~(3/m)]

~ [3 (35/n)—(3/(2n))
(C) j;l [n] 135/ =(3/(2n))]

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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n | th midpt Riem. sum
(a) Z [§] [el+(3j/n)} n P 4
for/ el dx

1

(b)jzizl E] o1+ (31/m)~(3/m)]

~ [3 (35/n)—(3/(2n))
(c) 3;1 [n] 135/ =(3/(2n))]

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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END
QUIZ



END
CLASS



nth rt endpt Riem. sum

(a) jzi:l [ﬂ 1G]

2
for/l el dx

(b) Zij H e1+G/m=/m)]

~ 1 (/n)—(1/(2n
(c) j;l [n] [el—l- 3/m)—(1/(2 ))]

(d) none of the above

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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nth left endpt Riem. sum

1] 1.14G/m)
(2) jgl ['”’] { | for /12 e’ dx

(b) Zij H e1+G/m=/m)]

~ 1 (/n)—(1/(2n
@ £ [ som-ovenr

(d) none of the above

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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nth midpt Riem. sum

1] 1.14G/m)
(2) jgl ['”’] { | for /12 e’ dx

(b) Zij H e1+G/m=/m)]

~ 1 (/n)—(1/(2n
@ & [ om-ore

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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(a) i F] {(2 + (4j/n))5] nth left endpt Riem. sum
=1 n 6 .
for/ x> dx

2

() 3 [}][@+ @i/m) — a/m)?
j=1

(© ¥ [+ @im —@/en)®
=1

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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(a) Zn: F] {(2 + (4j/n))5] nth right endpt Riem. sum
j=1""

6
for/ z° dx
2

() 3 [}][@+ @i/m) — a/m)?
j=1

(© ¥ [+ @im —@/en)®
=1

(d) none of the above

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

17

0of 5 Topic 0590 O pts




(a) nil F] [(2 + (4j/n))5] nth left endpt Riem. sum
j=0 n 6 .
for/ > dx
2

(b) X || [@+ @i/n) — (4/m)°)
j=0

n—1
(©) X [} [+ @im + @@’
§=0

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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(a) nil F] [(2 + (4j/n))5] nth midpt Riem. sum
j=0 "

6
for z° dx
n—1 4 /2
(b) X || [@+ @i/n) — (4/m)°)
j=0
1

(©) X [} [+ @im + @@y
=0

n
J

(d) none of the above

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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n—1

(@) Y H (24 (45/n))°] nth right endpt Riem. sum
j=0 " 6 .
for/2 x> dx

(b) X || [@+ @i/n) — (4/m)°)
j=0

n—1
(©) X [} [+ @im + @@’
§=0

(d) none of the above

n—1 -
Correct: ) %} {(2 4+ (45/n) + (4/n))5} 0% 0% 0% 0%
j=0 ) Y Vv > ™
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27 = (2)(In2)
/ 22 4 T gy — 77

3 z+1
(a) T | 2
3 x+1

(b) 2z 4 (2")(In2) +C

3 2T
| |
() 3 ' In2 "' ¢

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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157 = (5)(In5)

4 57
| |
(3)4 T s TC

(b) 322 + (5%)(In5) + C

4 533—|—1

L | |
(C)4la:—|—1lc

(d) none of the above

/:U3—I—5xda:=??

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10

11

12

1311411516 | 17 | 18 | 19 | 20

21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30

31

32

33 | 34 | 35|36 | 37 ]3] 39| 40

Oof 5

Topic 0570

22
O pts




line’'s slope = 8
goes through (2,7)
equation?

() x —7T=8(y —2)

(b) y—7 =8(z - 2)

(CO)y—8=7(x—2)

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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line’'s slope = 8
goes through (2,7)
equation?

()e =74 8(y — 2)

(b)y=7+8(x — 2)

(QQy=8+7(x—2)

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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tangent line to y = f(x) at (2,7)
y—7=8(x—2)
“linearization” of f(x) at x = 27

(a) 8
(b) 7

(c) 8(z —2)

(d) none of the above
0% 0% 0% 0%
. =T RN
Correct answer: 74+ 8(x—2) |“.— . . .
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f(5)=-2, f/(5)=39
Linear approx. to f(z)
at xt =57

(a) 522 + 39z — 2

(b) 39 — 2(z — 5)

(c) =2+ 39(x — 5)

(d) none of the above
0% 0% 0% 0%

> Vv

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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(a) True

(b) False

T or

If /<0 on I,

then f is cc dn on 1.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or F:
Any global max or global min is
at a critical number.

N v
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
. 28
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tangent line to y = f(x) at (2,7)
y—7=8(x—2)
“linearization” of f(x) at x = 27

(a) 8(x — 2)

(b) 7+ 8(z — 2)

(c) 7 —8(x—2)

(d) none of the above
0% 0% 0% 0%

> Vv

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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tangent line to y = f(x) at (2,7)
y—7=8(x—2)
“linearization” of f(x) at x = 27

(a) 8

(b) 8(x — 2)

(c)7+8(x—2)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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f(M) =4, f(7)=-8
Linear approx. to f(z)
at x =77

()4 —-8(x—7)

(b) 7z — 8z + 4

(€) —8+4(z—7)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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f(M) =4, f(7)=-8
Linear approx. to f(z)
at x =77

(@) -8+ 4(z—T7)

(b) 7z — 8z + 4

(c)4—-8(x—T7)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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f(5)=-2, f/(5)=39
Linear approx. to f(z)
at xt =57

(a) 39 —2(x —5)

(b) =2 + 39(x — 5)

(c) 522 + 39z — 2

(d) none of the above
0% 0% 0% 0%

> Vv

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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Linear approx. to g(x)
at © = 27

(a) 5 —-3(zx—2)

(b) -3+ 5(x — 2)

(c) 222 4+ 52 — 3

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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g(9) = -3, ¢(9)=-8

Linear approx. to g(x)
at x = 97

(a) -8 —3(z —9)

(b) -3 —-8(xz —9)

(c) 922 — 8x — 3

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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f(5) = -2, f(5)=23
Linear approx. to f(z)
at xt =57

(a) 23 — 2(z — 5)

(b) 5x2 + 23z — 2

(c) =2 4+ 23(x — 5)

(d) none of the above
0% 0% 0% 0%

> Vv
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9(9) =4, ¢'(9)=-8
Linear approx. to g(x)
at x = 97

(@) -8+ 4(z — 9)

(b)4 —8(x —9)

(c)9z2 + 4z — 8

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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(a) True

(b) False

T or

At any critical number is
a local max or a local min.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
. 38
Oof 5 Topic 0450 O pts




T or F:
f incr. on (2,3)
— f/>0o0n (2,3)

(a) True

(b) False
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